MK Diamond Products, Inc.
1315 Storm Parkway
Torrance, CA 90509-2803

Date
SPECIFICATION SHEET 03/08/11
MK Part Number MK Description Revision
167488 MTR,20HP,230/460V 3PH -
Manufacturer P/N Manufacturer Description
EM4106T | 20HP,3520RPM,3PH,60HZ,256T,0936M,TEFC,F1
Manufacturer Information Vendor Information Alternate Manufacturer
Baldor Or Equivalent
Fort Smith, AR
Specifications:
Rev Description Date Approved
- Initial Release, ECO#1559 03/08/11 JRJ
- Baldor p/n EM4106T supersedes M4106T 06/28/16 SMH

REV: 10/10




BAIL.DOR

A MEMBER OF THE ABB GROUP

BATLDORRELIANCENFR

Product Information Packet

EM4106T

20HP,3520RPM,3PH,60HZ,256T,0936M, TEFC,F1

Copyright @ All product information within this document is subject to Baldor Electric Company copyright @ protection, unless otherwise noted.



BAI.DOR-RELIANCEFRF

Product Information Packet: EM4 106T - 20HP,3520RPM,3PH,60HZ 256T ,0936M, TEFC F1

Part Detail

Revision: N Status: PROVA Change #: Proprietary: Mo

Type: AC Prod. Type: 0936M Elec. Spec: D9WGZE601 CD Diagram: COOD0s
Enclosure: TEFC Mfg Plant: Mech. Spec: 09P11 Layout: 0aLYPO11
Frame: 256T Mounting: F1 Poles: 02 Created Date: 06-09-2010
Base: RG Rotafion: R Insulation: F Eff. Date: 11-13-2015
Leads: 912 Replaced By:

Literature: Elec. Diagram:

Page2of 11 BALDOR



BATI.DOR-RELIANCERFRF

Product Information Packet: EM4106T - 20HP,3520RPM,3PH,60HZ,256T,0936M TEFC F1

MNameplate NP3441LUA

CAT.NO. EM4108T

SPEC. 09P0112601

HP 20

VOLTS 230/460

AMP 4623

RPM 3520

FRAME 236T HZ 60 PH 3
SER.F. 1.13 CODE H DES A | CL | F
MEMA-NOM-EFF 91 PF 89

RATING 40C AMB-CONT

CcC 0104 USABLE AT 208V 50

DE 6309 QDE 6208

EMCL TEFC SN

VPWM INVERTER READYY

CTE-60H(10:1)VT3-60H(20:1

50Hz 20HP 1907380% 56/28A SF1.0

Page3of 11 BAILDOR



BAI.DOR-RELIANCEF

Product Information Packet: EM4106T - 20HP,3520RPM,2PH 60HZ 256T,0936M, TEFC F1

Parts List

Part Number Description CQuaniity
54198113 54 09PD112601 1.000 EA
RA185480 Ra 09PD112601 1.000 EA
JTFN3002C02 ExXFM, PLASTIC, 6.00 OD, 1.500 ID 1.000 EA
S/P107-000-005 SUPER-E PROC'S(254/6 FR.) ZK PLANT - POL 1.000 EA
HW1002453 WASHER, 5/8 HI-COLLAR SPRLCKWASHER 1.000 EA
0aCB3002 CB Wi1.38 LEAD HOLE FOR 37, 39, 307 & 30 1.000 EA
09GS10005P GASKET-COMDUIT BOX, 1116 THICK LEXIDE 1.000 EA
10XM2520K12 1420 X.75 GRD 5 2.000 EA
WD1000B17 T&B CX35TN TERMIMAL 1.000 EA
11XW1032G06 10-32 X .38, TAPTITE II, HEX WSHR SLTD U 1.000 EA
D9EP 11004194 ENDPLATE, MACH 1.000 EA
XY3816A12 JB-16 FINISHED NUT 4.000 EA
HW1001438 LOCKWASHER 3/8, ZINC PLT .888 OD, .382 | 4.000 EA
HWS100A08 W3118-035 WY WSHR (WB) 1.000 EA
10XN2520K28 1/4-20 ¥ 1.73" HX HD SCRWGRADE 5, ZINC P 2.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 1 2.000 EA
D9EP1101A136 PU ENDPLATE, MACH 1.000 EA
HW4E00B445P V-RING SLINGER 1.500 X 1.810 X .28 VITON 1.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT 493 OD, 2551 2.000 EA
10XM2520K36 1/4-20 ¥ 2.25" H¥ HD SCRWGRADE 5, ZINC P 4.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT 493 OD, 2551 4.000 EA
HAZ113A02 THRUBOLT 3/8-16 X 16.750 4.000 EA
HW1001A38 LOCKWASHER 378, ZINC PLT 688 OD, .382 | 4.000 EA
D9FH40005P FAN COVER, STAMPED 1.000 EA

Page4of 11 BALDOR

OR



BAIT.DOR-RELIANCERF

Product Information Packet: EM4106T - 20HP,3520RPM,3PH,60HZ,256T,0936M, TEFC F1

Parts List (continued)

Part Number Description Quantity
HAZ0B1ADS SPACER TUBE, 308 FAN HSG, 2.00 LONG 4.000 EA
X¥3816412 B-16 FINISHED NUT 4.000 EA
HW1001A38 LOCKWASHER 3/8, ZINC PLT 688 OD, .382 | 4.000 EA
09CB35015P CONDUIT BOX LID FOR 09CB3001 & D9CB3002 1.000 EA
09G510135P 09 G5 FOR 09CB3501 LID - LEXIDE 1.000 EA
S1XW2520412 25-20 X .75, TAPTITE Il, HEX WSHR SLTD 2.000 EA
HW2501G25 KEY, 3/8 SQ X 2.875 1.000 EA
LE1115N LABEL LIFTIMG DEVICE (ON ROLLS) 1.000 EA
Mr416401 TAG-INSTAL-MAINT no wire (1400M/x) 11/14 1.000 EA
HA4051A00 PLASTIC CAP FOR GREASE FITTING 1.000 EA
HW4500A05 16698 ALEMIUNINVEED GR FTG X 1.000 EA
HW4500A17 317400 ALEMITE GREASE RELIEF 1.000 EA
HA4DB6AD PUSH IN T-DRAIN FITTING (BLACK) 1.000 EA
MJ 1000402 GREASE, POLYREX EM EXXOMN (USe 4824-154) 0.080LE
HA4051A00 PLASTIC CAP FOR GREASE FITTING 1.000 EA
HW4500A03 GREASE FITTING, .125 NPT 1610(ALEMITE) & 1.000 EA
HW4500A17 317400 ALEMITE GREASE RELIEF 1.000 EA
HA4DB6AD PUSH IN T-DRAIN FITTING (BLACK) 1.000 EA
HW2500A25 WOODRUFF KEY USA #1008 #8LOW CARBON STEE 1.000 EA
S1XB1214A20 12-14X1.25 HXWSSLD SERTYB 1.000 EA
MG1000Y03 MUNSELL 2.53Y 6.70V 4.60, GLOSS 20, 0.050 GA
BoXUD407504 4x1/4 U DRIVE PIN STAINLESS 2.000 EA
LCOOOSED2 SPL CONM.DIA AVARM LABEL(LCOD0S/LB1119) 1.000 EA
NP3441LUA ALUM SUPER-E VPWM INY READY UL 1.000 EA

Page 5 of 11

BALDOR



Product Infermation Packet: EM4106T - 20HP,3520RPM,3PH 60HZ 256T,0936M, TEFC F1

09PA1000 PACKAGING GROUP COMBINED PRINT 1.000 EA

Page 6 of 11



BAIL.DOR-RELIANCEF Product Information Packet: EM4106T - 20HP,3520RPM,3PH,60HZ,256T,0936M, TEFC F1
Accessories
Part Number Description Muliplier
09-1309 C FACE KIT AG
Page Tof 11 BAILD

OR




BAT.DOR-RELIANCERF Product Information Packet: EM4106T - 20HP,3520RPM,3PH,60HZ,256T,0936M, TEFC,F1

AC Induction Motor Performance Data
Record # 31396 - Typical performance - not guaranteed values

Winding: 09WGZ601-R001 Type: 0936M Enclosure: TEFC
Nameplate Data 45&;& 3&;‘39 Connection
Rated Output (HP) 20 Full Load Torque 29.6 LB-FT
Volts 230/460 Start Configuration direct on line
Full Load Amps 46/23 Breakdown Torgue 111 LB-FT
R.P.M. 3520 Pull-up Torgue 39.1 LB-FT
Hz G0 Phase 3 Locked-rotor Torgque 496 LB-FT
NEMA Design Code B KVA Code H Starting Current 161 A
Sernvice Factor (S.F.) 1.15 Mo-oad Current TAT A
NEMA Nom. Eff. 91 Power Factor 89 Line-line Res. @ 25°C 0473920
Rating - Duty 40C AMB-CONT Temp. Rise @ Rated Load 76°C
S F. Amps Temp. Rise @ S.F. Load 95°C
Rotor inertia 092 LB-FT2

Load Characteristics 460 V, 60 Hz, 20 HP

% of Rated Load 25 50 7o 100 125 150 SF.
Power Factor 58 78 86 89 90 90 90

Efficiency 889 922 924 9,7 907 892 911
Speed 35796 3961.5 35413 3519.5 34954 3467 .8 3502
Line amperes 9 13 177 229 286 35 263

Page8of 11 BALDOR

4 MEMBER {iF THE ARR TiRGLIP



BAIL.DORRELIANCERF Product Information Packet: EM4106T - 20HP,3520RPM,3PH 60HZ 256T,0936M, TEFC F1

Performance Graph at 460Y, 60Hz, 20.0HP Typical performance - Not guaranteed values

BALDOR ELECTRIC COMPANY WINDING # 09WGZ601
Z0HP 3P 60 KZ 3520 RPM 450V 0936M
Tagical ez -l quaranéeed afes. TORQUESIB-FT): PD=111 PU301 LR=496 LRA=161
. APy U —

f&'_rl TOAQUE - -
o -7 W 0w w o —_———————
100 100 3,600 4

5 Bip 3,580 38

0 Q0 3,580 ia

a5 a5 3,570 34

S0 &0 3,560 id

5E 75 3550 o

i ] o 3,540 £28

63 [ 3.530 20

a0 &0 3,520 24

S5 55 3,510 22

50 50 3,500 20

45 45 3,490 18

40 40 3,480 16

Eiln 35 3,470 14

nE InE 3,460 12

25 Filn 3,450 10

20 200 3440 g

15 I5F 3,430 [

nor or 3,420 4

i 5F 3410 2
0" o 3,400 - a 25 50 5 100 125 150
GIMRTOIE ACPIR, recwed # 11696 FERCENT OF RATED QUTRUT 20 HF
Page 9 of 11

BALDOR



BAI.DOR-RELIANCEF Product Information Packet: EM4106T - 20HP 3520RPM 3PH 60HZ 256T,0936M, TEFC, F1

| B \ GREASER & RELIES
)
)

(EA, EMD

5
[ (820 - S52)
@' (54 — 280 4,58 PL OMLY) 2. 12.9¢
o i - 1004 |- 863 -
(Y, " J—
— '
1 e — 277
i —
.38 KEY
la /_2.3-5 LONG
=== p—
—-— -——H g —t
-u"\L {
SUNGER

LEAD HOLE _|
‘h.ﬂ.l.l'l: DFAIN al.38

# HOLEE (EA. END)
353 — 75
425 I 11.50
ol
i
g
CUSTORER B RCEORSIILE FOR CETERMBRG THAT MALDCR'S PROOUCT WILL BERIOR SUITAILY I8 THE IMTERSED SEencs o -
A S BALDOR
RCW LTR L EASN: 08 | o= cononoaszeze
FILE: \MA\MEB\'HE REVSED: OO 20 19,11 /2015 |B‘-’: ER AR50 HORZ FOIC 35461 SIPTH-I
Wi — [+Tu] RS

Page 10of 11 BALDOR

A MEMEER OF THE ARR GROUF



BATL.DOR+RELIANCER Product Information Packet: EM4106T - 20HP,3520RPM ,3PH,60HZ 256T ,0936M, TEFC F1

CoO0Os
BLU
LOW VOLTAGE HIGH WOLTAGE
(2¥) (1)
4 5 &
4 5 6
4=YEL B 0] ® [
i - 0
1
7-PNK [ T
L4 OPTIONAL o' @b 9 & ® &
; THERMOSTATS
1
L
- 1 3 1 2 3
e @ ® z @ ® @
U
) e J—BRN
O-GRY ’jw\a—ru-::l
E—FRP 5—BLK LINE LIME
H’f -
-
j—UHGf)J Z—WHT
MOTES:
1. INTERCHANGE ANY TWO LINE LEADS TO REVERSE
ROTATION.
2. OPTIOMAL THERMOSTATS ARE PROVIDED WHENM
SPECIFIED.
3. ACTUAL NUMBER OF INTERNAL PARALLEL CIRCUITS
MAY BE A MULTILE OF THOSE SHOWN ABOWVE.
4. LEAD COLORS ARE OPTIOMAL. LEADS MUST ALWAYS BE
NMUMBERED AS SHOWN, ]
[
=2
=
REW, DESC: REWVISE TO SHOW OFTIONAL COLORS &
REV. LTR: E |F§‘-‘: JLP REWVISED: 01/19,/99 10:15 TOR: 171435 BALDOR ELECTRIC CG' w
FILE: AaAQO00S5140 WDL: —
S000a3 T a 3PH, OV, 9 LEADS

Page 11of 11 BALDOR

A MEMBER {IF THE ARR GROUP



